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L: 1] B A RP =Rt | B | ABE | TEM | &F
1|EE XZ CoLZHAT 352 64 128 96 128 416
2|=8 CoLvHAT 352 128 96 128 352
O £E 21)— 256 128 128 256
AFE &k CoLZHAT 224 64 64 64 96 288
5| %k 1E—8R Jets 192 128 64 192
5|5 H Rl Jets 192 64 64 64 192
5|1=# ME BFRET-AHBE 192 96 96 192
5= B BEFET=XHE 192 96 96 192
5|=F & 21)— 192 64 64 64 192
10[ARH 5 7yt TI)L 128 128 128
s Bt 96 96 96
12|AXR &4 64 64 64
12|88 08 64 64 64
14|4RL $HAER 21)— 36 16 4 16 36
14| 1L K& 21)— 36 16 4 16 36
16|HikE R=- ColLZHAT 18 10 8 18
16|ILUA FE ColLZHAT 18 10 8 18
16|M0E FHiK FZRIN—H 18 8 10 18
1678 FN 2!)— 18 8 10 18
16[ R+ T4 2!)— 18 8 10 18
21|FFH —Rk Jets 16 16 16
21K R Jets 16 16 16
21|k #F BFET=-AHBR 16 4 4 8 16
24| v B B ColLHAT 10 10 10
24|18 Ft ColL\HAT 10 10 10
26|5hH K&§ CoLHAT 8 8 8
26| B Il % JIR—HY R 8 8 8
26| Tk I JIRA—DR 8 8 8
26| 2% BABBFET-AHE 8 4 4 8
26|58 = 21)— 8 8 8
|IERK & SRR NI K 4 4 4
W)l £ SR N KFE 4 4 4
|&EF BB ColL\HAT 4 4 4
=E L CoLHAT 4 4 4
3| KB B ColLHAT 4 4 4
31|IUA FIE ColLZHAT 4 4 4
31|EE & 21)— 4 4 4




